## ORIENTAL COLLEGE OF LAW

* * * * * * * * * * * * * * * * * * * *														
total # 380 ∑CG 184 earned 20 sgpa 9.20	36 to 36	10 9	0 2 2 2	71 78 76 80		8		37 44 43 45	33 34 34 35		ACT AND EASEMENT ACT	FAMILY LAW II  TRANSFER OF PROPERTY ACT AND EASEMENT ACT  PRACTICAL TRAINING II	RIENTAL COLLE	College Id. No. 2020LW0342
PASSES			<b>P</b>	75				44	31			ADMINISTRATIVE LAW	4005 / CHAVAN ANCHITA NIRANJAN REKHA	Seat No: R54005
ATKT-1  total # 267  \( \text{2CG} \) 116  earned 16  sgpa 0.00	32 tr 32 24 tr 32 28 s	70868	₩ ㄲ > ㅉ >	61 52 62 36				31 29 34 13 36	30 23 28 28 20		ACT AND EASEMENT ACT	ADMINISTRATIVE LAW COMPANY LAW FAMILY LAW II TRANSFER OF PROPERTY ACT AND EASEMENT ACT PRACTICAL TRAINING II	4004 BAWKAR VISHWANATH MAHADEO  , 2020LW0085	Seat No: R54004 BAWI Roll No: 04  College Id. No. 2020LW0085
ATKT-2 total # 247 ∑CG 88 earned 12 sgpa 0.00	0 24 28 36 8	90760	<u>≯</u> ¬ ₽ В ¬	43 52 57 22 73		a		13 30 32 10 42	30 22 25 12 31		ACT AND EASEMENT ACT	ADMINISTRATIVE LAW COMPANY LAW FAMILY LAW II TRANSFER OF PROPERTY ACT AND EASEMENT ACT PRACTICAL TRAINING II		Seat No: R54003 Roll No: 03 College Id. No. 202
RESERVED	71									• • • • • • • • • •	ACT AND EASEMENT ACT	ADMINISTRATIVE LAW COMPANY LAW FAMILY LAW II TRANSFER OF PROPERTY ACT AND EASEMENT A PRACTICAL TRAINING II	-	Seat No: R54002 Roll No: 02 College Id. No. 2020
PASSES total # 326 \(\times \text{CG 164}\) earned 20 sgpa 8.20	28 32 36 28	+ + + 7	0 B A A B	55 63 70 58				24 41 38 27 45	31 32 35		ACT AND EASEMENT ACT	ADMINISTRATIVE LAW COMPANY LAW FAMILY LAW II TRANSFER OF PROPERTY ACT AND EASEMENT ACT PRACTICAL TRAINING II	-   ₽	Seat No: R54001 Roll No: 01 College Id. No. 202
	v													
		rd gp	t grd	g Tot	sg gg	prc	A		int	ср	title of the course	title	name of the learner	
Page 1 of 8 date 27/01/2024		3	6	Page Result declared on: date	0	All	Res	_4_	2023	BER	JLAR SEMESTER VII EXAMINATION HELD IN DECEMBER 2023	S./LL.B. REGULAR SEMESTER	CONSOLIDATED RESULT OF ALL LEARNERS FROM 4-Y.B.L.S./LL.B. REGULAR SEMESTER VII EXAMINATION HE	CONSOLIE

		ONITINIAL COLLEGE OF LAW								_	age	rage 2 or 8
CONSOLIDATED F	ESULT OF ALL LEARNERS FROM 4-Y.B.L.S	CONSOLIDATED RESULT OF ALL LEARNERS FROM 4-Y.B.L.S./LL.B. REGULAR SEMESTER VII EXAMINATION HELD IN DECEMBER 2023	ER 2023		Result declared	ut d	lecto	red	0 5	.,	late	date 27/01/2024
	name of the learner	title of the course	용 =:	int —	ext p	prc sg	99	Tot			යි	result
Seat No: R54006 Roll No: 06	DHUTRAJ NILESH GANGADHAR	ADMINISTRATIVE LAW COMPANY LAW	2 2 2 3c					73	A 4		36	PASSES total # 358
College Id. No. 2020LW0202	W0202	FAMILY LAW II TRANSFER OF PROPERTY ACT AND EASEMENT ACT PRACTICAL TRAINING II	37	26 44 41	- 0,			63 82 75	<del>2</del> 0 >	9 0 8		m 11 1
Seat No: R54007 Roll No: 07	/ DSOUZA CLERA ANTON PRICILLA	ADMINISTRATIVE LAW COMPANY LAW	35	33 33				66 68	>>		32 22	PASSES total # 373
College Id. No. 2020LW0350	W0350	FAMILY LAW II TRANSFER OF PROPERTY ACT AND EASEMENT ACT PRACTICAL TRAINING II	36					80 79 80	0 2 0	10		(0 1/2)
Seat No: R54008 Roll No: 08	/FAROOQUE TAIYABA KHATOON MOHD HAMZA AYESHA KHATOON	ADMINISTRATIVE LAW COMPANY LAW	30	25				55 68	> ₩		28 32	PASSES total # 296
College Id. No. 2021LW0346	W0346	FAMILY LAW II TRANSFER OF PROPERTY ACT AND EASEMENT ACT PRACTICAL TRAINING II	31 25 24					62 44 67	> 0 >	∞ 4 ∞		∑CG 140 earned 20 sgpa 7.00
Seat No: R54009 Roll No: 09	GAIKWAD PRANAV SURESH SUNITA	ADMINISTRATIVE LAW COMPANY LAW	30	34				64 55	В <sub>+</sub> А	7 00	28 32	PASSES total # 304
College Id. No. 2020LW0123	V0123	FAMILY LAW II TRANSFER OF PROPERTY ACT AND EASEMENT ACT PRACTICAL TRAINING II	21 30					58 68 59	₽ > ₽		<del></del>	∑CG 148 earned 20 sgpa 7.40
Seat No: R54010 Roll No: 10	/ GHAG CHAITALI ANIL SHUBHANGI	ADMINISTRATIVE LAW COMPANY LAW	. 29 26					60 55	₽≯	7 00	28	PASSES total # 271
College Id. No. 2020LW0341	V0341	FAMILY LAW II TRANSFER OF PROPERTY ACT AND EASEMENT ACT PRACTICAL TRAINING II	28	25 18 30				55 46 55	фοф			
Seat No: R54011 Roll No: 11	/ GUPTA SURABHI SANJAY SANGEETA	ADMINISTRATIVE LAW COMPANY LAW	34					67 62	> >		32	PASSES total # 358
College Id. No. 2020LW0088	RIEN	FAMILY LAW II TRANSFER OF PROPERTY ACT AND EASEMENT ACT PRACTICAL TRAINING II	34	41				75 78 76	7 7 7	9 9 9		00 10 -
	SHAN SOUTH											

CONSOLIDATED	RESULT OF ALL LEARNERS FROM 4-Y.B.L.S	CONSOLIDATED RESULT OF ALL LEARNERS FROM 4-Y.B.L.S./LL.B. REGULAR SEMESTER VII EXAMINATION HELD IN DECEMBER 2023	R 202	ω	D O	esult	129	declared	2		date	27/01/2024
	name of the learner	title of the course	පි	Ħ.		prc	 99	Tot	(0)	0	cg	result
Seat No: R54012 Roll No: 12	/ SHAIKH HUSNA HASAN SAIFUNNISA	ADMINISTRATIVE LAW COMPANY LAW	νω		31				DA		32	PASSES total # 270
College Id. No. 2020LW0355	LW0355	FAMILY LAW II TRANSFER OF PROPERTY ACT AND EASEMENT ACT PRACTICAL TRAINING II	N W W	32 31 26	20 30			51 56	B B ∀	7 6 8		∑CG 132 earned 20 sgpa 6.60
Seat No: R54013 Roll No: 13	JAISWAL SHAILENDRA KUMAR SOHIT RAM RAJPATI DEVI	ADMINISTRATIVE LAW COMPANY LAW	Νω		34			67	>>		32	PASSES total # 339
College Id. No. 2020LW0084	LW0084	FAMILY LAW II TRANSFER OF PROPERTY ACT AND EASEMENT ACT PRACTICAL TRAINING II	(a (a N	29 37 36	30 31 45				0 A B	7 8 10	28 32 40	ECG 164 earned 20 sgpa 8.20
Seat No: R54014 Roll No: 14	ЈНА ROHIT GEETA	ADMINISTRATIVE LAW COMPANY LAW	 		33				-> >			PASSES total # 379
College Id. No. 2020LW0344	LW0344	FAMILY LAW II TRANSFER OF PROPERTY ACT AND EASEMENT ACT PRACTICAL TRAINING II	(a) (a) (a)	33 36	46 46			72 83 79	¥ 0 ¥	9	36 36	ECG 180 earned 20 sgpa 9.00
Seat No: R54015 / KAK Roll No: 15 College Id. No. 2020LW0090	/ KAKADE SONALI JEEVAN LW0090	ADMINISTRATIVE LAW COMPANY LAW FAMILY LAW II TRANSFER OF PROPERTY ACT AND EASEMENT ACT PRACTICAL TRAINING II	(a) (a) N) N) (a)	33 21 29 31 32	33 27 33 41 44			66 48 62 72	<u> </u>	ω ω ω υ α	32 20 36 36	PASSES total # 324 ∑CG 156 earned 20 sgpa 7.80
Seat No: R54016 / KAN Roll No: 16 College Id. No. 2020LW0353	/ KANGANE SIDDHI SUBHASH SANCHITA LW0353	ADMINISTRATIVE LAW COMPANY LAW FAMILY LAW II TRANSFER OF PROPERTY ACT AND EASEMENT ACT PRACTICAL TRAINING II	(a, (a, (a, b), (a,	32 23 31 31	37 37 30 18 44			69 60 62 49 75	P O D D D	62.0000	32 32 32 20 36	PASSES total # 315 ∑CG 152 earned 20 sgpa 7.60
Seat No: R54017 KESI Roll No: 17 College Id. No. 2020LW0087	LW0087 LW	ADMINISTRATIVE LAW COMPANY LAW FAMILY LAW II TRANSFER OF PROPERTY ACT AND EASEMENT ACT PRACTICAL TRAINING II		36 37 38 39	50 44 34 42 37			86 81 72 81	<u></u> → 0 → 0 0	10 10 9 10	40 40 36 40	PASSES total # 397 ∑CG 192 earned 20 sgpa 9.60

CONSOLIDATED RESULT OF ALL LEARNERS FROM 4-Y.B.L.	CONSOLIDATED RESULT OF ALL LEARNERS FROM 4-Y.B.L.S./LL.B. REGULAR SEMESTER VII EXAMINATION HELD IN DECEMBER 2023	R 2023	かり	to call	5	2	Jec la se al	3		date	27/01/2024
name of the learner	title of the course	cp int		prc		99		grd c	0		result
Seat No: R54018 / KHAN NAUSHIN MOHABBAT ALI	ADMINISTRATIVE LAW COMPANY LAW	32	45				61	P		3 8	PASSES
College Id. No. 2020LW0086	FAMILY LAW II TRANSFER OF PROPERTY ACT AND EASEMENT ACT PRACTICAL TRAINING II	22 23 33	38 28				50 60 71	≯ > ₪ ;	ω ω σ σ		~ h h h
Seat No: R54019 / KHAN NAZREEN VAZHUDDIN AMEENA Roll No: 19 KHATOON	ADMINISTRATIVE LAW COMPANY LAW	30	29 28				59 53	в ф		28	PASSES total # 284
College Id. No. 2020LW0348	FAMILY LAW II TRANSFER OF PROPERTY ACT AND EASEMENT ACT PRACTICAL TRAINING II	34 34	34 21				55 49 68	> ○ ∰	8 5 7		0 12 -
Seat No: R54020 / KHOT LUBNA RIYAZ MARIYAMBI Roll No: 20	ADMINISTRATIVE LAW COMPANY LAW	37	34				71 67	D A	ω ω		PASSES total # 345
College Id. No. 2020LW0357	FAMILY LAW II TRANSFER OF PROPERTY ACT AND EASEMENT ACT PRACTICAL TRAINING II	3 3 3 3	3 3 3 3 8 0				76 65	> > >		32 32	∑CG 168 earned 20 sgpa 8.40
Seat No: R54021 KOHLI PAWAN GULSHAN SHARDA Roll No: 21 College Id. No. 2020LW0206	ADMINISTRATIVE LAW COMPANY LAW FAMILY LAW II	31 35	36 29								PASSES total # 362
College In. No. PORVEWORDS	TRANSFER OF PROPERTY ACT AND EASEMENT ACT PRACTICAL TRAINING II	33 33 35	29 4.4 36				60 83 4 80 80	> 0 >	8 0 8	32 40 32	∑CG 176 earned 20 sgpa 8.80
Seat No: R54022 KOKAL MOHIT LALIT KAJAL Roll No: 22 College Id. No. 2020LW0128	ADMINISTRATIVE LAW COMPANY LAW FAMILY LAW II TRANSFER OF PROPERTY ACT AND EASEMENT ACT PRACTICAL TRAINING II	32 29 36	37 28 24 28 23				69 48 53 57	# # B C >	7 7 6 5 8	32 20 28 28 8	PASSES total # 286 ∑CG 132 earned 20 sgpa 6.60
Seat No: R54023 MALASHETTI ATHARV SANJAY RUPALI Roll No: 23  College Id. No. 2020LW0LW0  Z Sanpada A 00 705 Z Sanpada A 00 705	ADMINISTRATIVE LAW COMPANY LAW FAMILY LAW II TRANSFER OF PROPERTY ACT AND EASEMENT ACT PRACTICAL TRAINING II	33 34 34	27 24 34 35				68 53 58 67	> > \( \psi \) \( \psi \)	8 32 6 24 7 28 8 32 8 32		PASSES total # 314 ∑CG 148 earned 20 sgpa 7.40

## ORIENTAL COLLEGE OF LAW

CONSOLIDATED RESULT OF ALL LEARNERS FROM 4-Y.B.L.S./LL.B. REGULAR SEMESTER VII EXAMINATION HELD IN DECEMBER 2023 Result declased on: date 27/01/2024

		101		1/64	3	2	Iccio	22 02	001		dale	2110112024
name of the learner	title of the course	ප	int	ext	prc	sg		Tot	grd	gp	යි	result
Seat No: R54024 MISHRA GHANSHYAM MAHESH PUNITA ROII No: 24	ADMINISTRATIVE LAW COMPANY LAW	. ν ω		5 5				73	P			PASSES
College Id. No. 2020LW0187	FAMILY LAW II TRANSFER OF PROPERTY ACT AND EASEMENT ACT PRACTICAL TRAINING II	3 3 3 1		45 6 25				68 56	<b>≯</b> ₽ > >	9 7 8 0	36	ECG 164 earned 20 sgpa 8.20
Seat No: R54025 NERKAR SAHIL PRADEEP SANGEETA	ADMINISTRATIVE LAW COMPANY LAW	ν ω		8 8				52	<b>™</b> >		2 22	PASSES
College Id. No. 2020LW0347	FAMILY LAW II TRANSFER OF PROPERTY ACT AND EASEMENT ACT PRACTICAL TRAINING II	29 34		24 28 26				56 60	> p m	0 7 0		>1 N) -4
Seat No: R54026 PANDEY ROHIT SANTOSH NEELAM Roll No: 26	ADMINISTRATIVE LAW COMPANY LAW	ယ္ ယ္		<u>σ</u> σ				71	A A + +			PASSES total # 368
College Id. No. 2020LW0186	FAMILY LAW II TRANSFER OF PROPERTY ACT AND EASEMENT ACT PRACTICAL TRAINING II	3 3 3 3 3 3		36 46				68 75 84		10 8	36	(0 )
Seat No: R54027 / PATEL SHWETA DASHRATH SITA Roll No: 27 College Id. No. 2020LW0185	ADMINISTRATIVE LAW COMPANY LAW FAMILY LAW II TRANSFER OF PROPERTY ACT AND EASEMENT ACT PRACTICAL TRAINING II	35 36 37 39 38	5 38 5 43 7 46 8 49	<b>ω</b> σ σ ω ω		, ,		73 83 85 87	00077	10 4 4 3 3	36 40 40	PASSES total # 407 ECG 192 earned 20 sgpa 9.60
Seat No: R54028 / PRAJAPATI ANJALI RAMESH PUSHPA Roll No: 28 College Id. No. 2020LW0337	ADMINISTRATIVE LAW COMPANY LAW FAMILY LAW II TRANSFER OF PROPERTY ACT AND EASEMENT ACT PRACTICAL TRAINING II	34	337 37 39 33 4 33 4 35 4 35	5 5 3 9 7				75 73 64 69	>>>>>		32 36 36	PASSES total # 352 ECG 172 earned 20
Seat No: R54029 / RAIKWAR MAHI SHANKAR KAVITA Roll No: 29	ADMINISTRATIVE LAW COMPANY LAW			ωω					> }			PASSES total # 346
College Id. No. 2020LW0207  Rev COLLEGA  Sanpada  400705	FAMILY LAW II TRANSFER OF PROPERTY ACT AND EASEMENT ACT PRACTICAL TRAINING II	30	35					68 76	<del>2</del>	<u>ωωω</u>	36 32	
\ \												

Page 5 of 8

TRANSFER OF PROPERTY OF AUGUST AND AUGUST AND AUGUST AUGUS	Roll No: 35  College Id. No. 2020LW0204  / SHIRKE KRUPALI ATUL RATNA  ADMINISTRATIVE LAW  COMPANY LAW  FAMILY LAW II		Seat No: R54034 SHEJUL DHAMMARAJ DEVIDAS ADMINISTRATIVE LAW COMPANY LAW COMPANY LAW	,	Seat No: R54033 / SHAIKH TUBA MOHD JAVEED NOOR SABA ROII No: 33 COMPANY LAW COMPANY LAW FAMILY LAW II		Seat No: R54032 / SHAIKH AFREEN ALLAHBAKSH NASEEM ADMINISTRATIVE LAW Roll No: 32 BANO COMPANY LAW College Id No: 20201 W0354		Seat No: R54031 SHAH RAYYAN NAZIR KAIHKASHA ADMINISTRATIVE LAW Roll No: 31 COMPANY LAW College Id. No. 2020LW0205		Seat No: R54030 SAROJ ABHINAV RAMASHANKAR ASHA ADMINISTRATIVE LAW COllege Id. No. 20201 W0364 COMPANY LAW	name of the learner	CONSOLIDATED RESULT OF ALL LEARNERS FROM 4-Y.B.L.S./LL.B. REGULAR SEMESTER VII EXAMINATION HELD IN DECEMBER 2023
TRANSFER OF PROPERTY ACT AND EASEMENT ACT PRACTICAL TRAINING II		TRANSFER OF PROPERTY ACT AND EASEMENT ACT PRACTICAL TRAINING II		TRANSFER OF PROPERTY ACT AND EASEMENT ACT PRACTICAL TRAINING II		HAMILY LAW II TRANSFER OF PROPERTY ACT AND EASEMENT ACT PRACTICAL TRAINING II		TRANSFER OF PROPERTY ACT AND EASEMENT ACT PRACTICAL TRAINING II		TRANISFER OF PROPERTY ACT AND EASEMENT ACT PRACTICAL TRAINING II		title of the course	TER VII EXAMINATION HELD IN DECEM
ω Ν.	34	3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3		(a) (a) N								ç	3ER 20:
				30		37 38		25 29 29		26 27 30	32	int	23
——————————————————————————————————————	3 3 2 8	10 28	23	24	30	36 41	29	30 41	18	4 4 29	36	ext	to
												prc	esult
74 74	62	54 48 59	55 23	56 54	61	73 72 75	63	55 60 70	48 47	55 71 73	თ თ	Tot	ecla
<b>→</b> > >	> > >	<u>ф</u> п в		<u>≯</u> ¤ ¤			> >		7 B		5 8 A	t grd	declosed on: date
ω ∞ ο		7 0 6		967		999	∞ ∞	9 8 7			7 8	d gp	25
36 2			0 1		32 20		32	32 36	20 20		32	g	Page date
earned 20 sgpa 8.20		∑CG 80 earned 12 sgpa 0.00	ATKT-2 total # 239	∑CG 140 earned 20 sgpa 7.00	PASSES total # 290	m 11 -1	PASSES total # 350	ECG 136 earned 20 sgpa 6.80	PASSES total # 280	ECG 160 earned 20 sgpa 8.00	PASSES total # 322	result	Page 6 of 8 date 27/01/2024

	CINICINITAL COLLEGE OF LAWA									_	age	Page 7 of 8
CONSOLIDATED RESULT OF ALL LEARNERS FROM 4-Y.B.L.S./LL.B. REGULAR SEMESTER VII EXAMINATION HE	S./LL.B. REGULAR SEMESTER VII EXAMINATION HELD IN DECEMBER 2023	ER 202:		Result	E F		000	declared on:	0		date	27/01/2024
name of the learner	title of the course	용	ī.	ext	prc		<u>g</u>	Tot (	grd	ס	cg	result
Seat No: R54036 KATHAYAT ASHOK BAHADUR SINGH MEENA DEVI	ADMINISTRATIVE LAW COMPANY LAW	νω		4 8					B+ +		36	PASSES total # 329
College Id. No. 2020LW0126	FAMILY LAW II TRANSFER OF PROPERTY ACT AND EASEMENT ACT PRACTICAL TRAINING II	. 33		29 44 37				56 77	>	8 9 7	36	
Seat No: R54037 / SINGH KHUSHABU RAMESH INDIRA Roll No: 37	ADMINISTRATIVE LAW COMPANY LAW	34		ώ φ				73 / 59 E	₽ ₽		28 36	PASSES
College Id. No. 2020LW0345	FAMILY LAW II TRANSFER OF PROPERTY ACT AND EASEMENT ACT PRACTICAL TRAINING II	27 28 29		25 23 36					> 0 0 0	ω σ σ ·		ΣCG 144 earned 20 sgpa 7.20
Seat No: R54038 WAGHDHARE ABHISHEK PRAMOD PRAMITA Roll No: 38	ADMINISTRATIVE LAW COMPANY LAW	ယ ယူ		10				65			3 8	PASSES total # 328
College Id. No. 2020LW0360	FAMILY LAW II TRANSFER OF PROPERTY ACT AND EASEMENT ACT PRACTICAL TRAINING II	35	5 8 8 30 2 38	∞ C ∞					<del>2</del>	() () () ()		00 10 -4
Seat No: R54039 / YADAV ANURADHA HARISHANKAR Roll No: 39 NAYANJYOTI	ADMINISTRATIVE LAW COMPANY LAW	3 3		ο ω					<b>₽</b> ₽		35 36	PASSES total # 376
College Id. No. 2020LW0346	FAMILY LAW II TRANSFER OF PROPERTY ACT AND EASEMENT ACT PRACTICAL TRAINING II	34 28	8 39 4 42 1 47	7,29				76 A		<b>ωωω</b>		∞ N →
Seat No: R54040 KADAM JAYDEEP BHARAT MANDA Roll No: 40	ADMINISTRATIVE LAW COMPANY LAW	32		0 0				69 63 A A			32	PASSES total # 346
College Id. No. 2023LW0347	FAMILY LAW II TRANSFER OF PROPERTY ACT AND EASEMENT ACT PRACTICAL TRAINING II	31 30	32 4 42 45	51 10 10 10				76 A A	+ +	ω ω ω α ω ω ω α		m h1 1
Seat No: R54042 KHAN NASEEM AHMED MUNIR AHMED Roll No: 42 AKLIMUNNISHA CO	ADMINISTRATIVE LAW COMPANY LAW FAMILY LAW II	27 25 26	332	w 6, 10				59 B <sub>+</sub>		7 28 8 32 5 20		PASSES total # 300
ORIEN Senpada 400705 NOTED	TRANSFER OF PROPERTY ACT AND EASEMENT ACT PRACTICAL TRAINING II	28			_	-			-	-	-	earned 20 sgpa 7.20
Wumbal Williams												

total learners

result

CONSOLIDATED RESULT OF ALL LEARNERS FROM 4-Y.B.L.S./LL.B. REGULAR SEMESTER VII EXAMINATION HELD IN DECEMBER 2023 そしまむし declared on: date 27/01/2024 name of the learner title of the course cp int ext prc sg gg Tot grd gp cg Page 8 of 8



No. of Students passed = 38 No. of Students ATKT(1) = 01 No. of Students ATKT(2) = 03

Total No. of students = 42

incharge - examination committee

ORIENTAL COLLEGE OF LAW principal

Sanpada, Navi Mumbai - 400 705. Plot No. 3,4,5, Sector - 2,